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Question Number : 1 Question Id : 25498943433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When using Windows OS, the is the term used to describe the window that is currently being used.
Options :

1. # Web Window

2. % Display area

3. % WordPad Window

4. ¥ Active Window

Question Number : 1 Question Id : 25498943433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows OS T SUINT HRd JHI IdHH H STATT S g [dSI pTava BB W Weg 1 SUANT fPar S g
Options :

1. % d9 fdet

2. % f&xl i (&9)

3. % geevs (el

4. Uideq fdSt

Question Number : 2 Question Id : 25498943434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

systems combine communication technology, people and computers to help perform office activities, such as preparing written
communication, printing, scheduling or creating reports.

Options :

1. ¥ Office automation
2. # Expert

3. % Data warehouses

4. ¥ Enterprise

Question Number : 2 Question Id : 25498943434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Rizen, 3ifth foramt S T ol TR duR &=, e ovn, Rsga & a1 Ruie 94911 onfe o Aeg A & forg TR
TNt A SR SRl &) Shisdt g
Options :
1. ¢ 3y 3HcARH
2. % TgUC
3. % ST dURERST
4. % UCRUTRS

Question Number : 3 Question Id : 25498943435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Generally, which of the following files will always be downloaded when a new software is downloaded in the web browser?
Options :

1. # Home Page

2. % exe

3. % Web Pages

4. % Blogs

Question Number : 3 Question Id : 25498943435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THIR WR, 39 TSR H HIg 791 etk SI3TAS 81 WR 9 H F -3 tigd gHRIN SISAAIS B1 SEi?
Options :

1. % g U

2. % exe

3. % 9 Ul

4. % AN

Question Number : 4 Question Id : 25498943436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In terms of microprocessor architecture, RISC stands for

Options :

1. ¥ Reduced Instruction Set Computer

2. #® Risk Introduced Socket Chip

3. % Rare Industrial Select Computer

4. ® Reduced Individual Select Computer

Question Number : 4 Question Id : 25498943436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRR 3ffchedar & WgH H, RISC &1 YUl U &1 87

Options :

1. ¥ Reduced Instruction Set Computer (ﬂw SRLNE e HYR)

2. % Risk Introduced Socket Chip (R¥h Sclegse Hide o)

3. % Rare Industrial Select Computer (:QTR g@i?gqa Jode HR)

4. % Reduced Individual Select Computer (QGIS?J&-S sl'%fa\gem C d?Ud\CQ)

Question Number : 5 Question Id : 25498943437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these is NOT a basic function of a computer?
Options :

1. ¥ Copy text

2. ® Accept input

3. % Process data

4. ® Store data

Question Number : 5 Question Id : 25498943437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



T8 I DI T SR BT TH MYRYI BT 81 52
Options :

1. ¥ CRC B! HIUl Bl

2. % gIYC UgUl h]

3. % ST TR HAl

4, % STTER HRAI

Question Number : 6 Question Id : 25498943438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Gmailmvmﬁ Wﬁﬂ@TW@?ﬁ%"
Options :

1. %3

2. % So

3. ¥ Ul

4, % HId

Question Number : 6 Question Id : 25498943438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many numbers of categories are there in Gmail inbox?
Options :

1. ® Two

2. % Six

3. ¥ Five

4. % Seven

Question Number : 7 Question Id : 25498943439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IC oY fAdhed MS Word 2016 & b ¢ & IUT 82



Options :

1. #* INSERT

2. % TABLE

3. * FORMAT

4. ¥ REFERENCES

Question Number : 7 Question Id : 25498943439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Insert index option is available in which tab of MS Word 2016?
Options :

1. % INSERT

2. % TABLE

3. % FORMAT

4. ¥ REFERENCES

Question Number : 8 Question Id : 25498943440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the key combination to close the program window currently active in the Microsoft Windows?
Options :

1. ®= Alt+F1

2. ¥ Alt+F4

3. % Alt+D

4. % Alt+W

Question Number : 8 Question Id : 25498943440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Microsoft Windows ﬁfﬂ?ﬁ?ﬂﬁ%ﬁﬂ]ﬂﬁ@ﬁﬁﬁ%%ﬁﬁ?ﬁﬁﬁ-ﬂ@ﬁ%?”
Options :

1. % Alt+F1



2. ¥ Alt+F4
3. % Alt+D
4. % Alt+W

Question Number : 9 Question Id : 25498943441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 7§ 3 S Tt et &l a1 &l 9 i Head cridre o Jaie 6?2
Options :

1. ¥ gTefse

2. % LR

3. % Ay

4. % ¢

Question Number : 9 Question Id : 25498943441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which topology is a combination of two or more network topologies?
Options :

1. ¥ Hybrid

2. % Star

3. % Mesh

4. % Tree

Question Number : 10 Question Id : 25498943442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a spreadsheet application?
Options :

1. ¥ MS Word

2. % MS Excel



3. % OpenOffice Calc
4. # Google Sheets

Question Number : 10 Question Id : 25498943442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafafad # 3 HH-, T Wsie TrbH T8l 82
Options :

1. ¥ MS Word

2. % MS Excel

3. % 3NTFHHY Pedh (OpenOffice Calc)
4. % e RITCH (Google Sheets)

Question Number : 11 Question Id : 25498943443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Operating System is a kind of software.
Options :

1. ¥ System

2. % Application

3. % Firmware

4, % Utility

Question Number : 11 Question Id : 25498943443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S{TORTET e Ueh TRE 1 AFRAR B
Options :

1. ¢ ReH

2. % UWIHTH

3. % BHAWR



4. % gfeferdt

Question Number : 12 Question Id : 25498943444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT required to start and use BHIM to make transactions?
Options :

1. # Smartphone

2. # Registered mobile number

3. # Indian Bank Account

4. ¥ Credit card

Question Number : 12 Question Id : 25498943444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e gg HiH &1 = HRA 3R IS SUAN HRA & fore FufaRad & 9§ gt srawadmdr 18! 82
Options :

1. % WICHH

2. # Uoligpd (RfSRes) AESd R

3. % YR o @l

4. ¥ HSC DI

Question Number : 13 Question Id : 25498943445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Th_ AC H, UdD W3y $I A1 (arc) AT (3R YRUTHG: SHDT Bald HIvl 3R &ADB), 39d gRI FUd AT & JHMHUN oidl 5|
Options :

1. # W(Surface)

2. % W(Column)

3. % IS (Line)

4. ¥ TS (Pie)




Question Number : 13 Question Id : 25498943445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ina  chart, the arc length of each slice (and consequently its central angle and area), is proportional to the quantity it represents.
Options :

1. # Surface

2. % Column

3. % Line

4. ¥ Pie

Question Number : 14 Question Id : 25498943446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of an access control system.
Options :
1. ¥ A fingerprint reader
2. % Wi-Fi
3. * Hotspot

4. % A modem

Question Number : 14 Question Id : 25498943446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR o fRieH &1 T Iaeu g

Options :

1. ¢ Rt e
2. % AIR-PTg

3. % glewle

4. % 489

Question Number : 15 Question Id : 25498943447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A web browser may deny access to a website when the certificate of a website is expired and the of the website cannot be verified.
Options :

1. * size

2. % protocol

3. ¥ identity

4. % age

Question Number : 15 Question Id : 25498943447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o1d el deRTS e o THTOYA &1 FHad fafd e 81 9Tt 8 SR dawise Si/d QYT g1 81 UI/aTdl &, dl 99 STSoR 39
JEHISC BT TR & Y SHR HR Ghdl 5|

Options :

1. % JH[hR

2. % Uicihid

3. ¢ UgdiHd

4. % FHGHH

Question Number : 16 Question Id : 25498943448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a common interface that enables communication between devices and a host controller such as a personal computer
(PC) or smartphone, that has replaced a wide range of interfaces like the parallel and serial port?

Options :

1. ¥ Universal Serial bus
2. % Local bus

3. # Line bus

4. % Port bus

Question Number : 16 Question Id : 25498943448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

FrafaRad o 9 HH-91, T THRI $e0%9 § Sl SUHRUN 3R Th GRE HEIR ol [ TRHd HUER (PC) A1 WCHH, & Sid TaR Sl T&H
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Options :

1. ¢ gHaga divad s9

2. % dihd 99

3. % 3§

4. % O 99

Question Number : 17 Question Id : 25498943449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A\ EN o o~ o\ .
3T O B I fet fomer fex & =0 & S1H1 SIrar 82
Options :
1. ¥ TS &% gIea
2. % P %
3. % TIfew (daon) fows
4. % TP (Jad) U

Question Number : 17 Question Id : 25498943449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following disks is referred to "Winchester Disk'?
Options :

1. ¥ Hard Disk Drive

2. % Compact Disk

3. % Magnetic Disk

4. ¥ Magnetic Tape

Question Number : 18 Question Id : 25498943450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

C, BASIC, COBOL, and Java are the examples of programming languages.

Options :

1. * low-level

2. % group

3. % system

4. ¥ high-level

Question Number : 18 Question Id : 25498943450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C, BASIC, COBOL iR Java TN Aoy & 360§ |
Options :

1. % ql-dad

2.% 94

3. % Ren

4. ¥ glg-dad

Question Number : 19 Question Id : 25498943451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The type of printer in which the letters being printed are created by direct contact between ink ribbon and paper is called
Options :

1. ¥ impact printer

2. % non-impact printer

3. # chemical printer

4. ® electrostatic printer

Question Number : 19 Question Id : 25498943451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ e fiiex

2. % i g fifer

3. % Dhiffehd Ui}

4. % FgeRefed iR

Question Number : 20 Question Id : 25498943455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, we can apply different change case using Shift+F3 to whole document.
Options :

1. ® one

2. % two

3. ¥ three

4. # four

Question Number : 20 Question Id : 25498943455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word ¥, 81 QR SXTAW | Shift+F3 HTITARTHRB _ {THT-3(THT URTI 59 (IS Hd) AR HR Jhd ¢ |
Options :

1. % U

2. % T

3. ¢ dF

4, % TR

Question Number : 21 Question Id : 25498943456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T <1 WRIT Xaas & BRI Uige A WRIT a8l



Options :
1. ® 16
2. % 14
3.9 12
4. % 10

Question Number : 21 Question Id : 25498943456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Single line spacing document causes points line spacing.
Options :

1. % 16

2. % 14

3. 12

4. % 10

Question Number : 22 Question Id : 25498943457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H Redo @WW%WWﬁ@ﬁWWWWWW%V
Options :

1. ¥ Ctrl+Y

2. % Ctrl+Z

3. % Ctrl+R

4. % Cul+O

Question Number : 22 Question Id : 25498943457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to perform Redo operation in MS Word?
Options :

1. ¥ Ctrl+Y



2. % Ctrl+Z
3. # Ctrl[+R
4. # Ctrl4+O

Question Number : 23 Question Id : 25498943458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & Tehd U§ &I Fs [AfHT SIHFT (FaRM) THied e A WeM dIH & fad b &1 SUaT fhar Sar g
Options :

1. ¥ Yo

2. % O

3. % BiaH

4. % IRTUTH

Question Number : 23 Question Id : 25498943458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In order to enable single page to contain several different sections, use break in MS Word.
Options :

1. ¥ section

2. % page

3. ® column

4. # paragraph

Question Number : 24 Question Id : 25498943459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A laser printer uses:

Options :

1. * camera lenses

2. * araster scan



3. % toner cartridges
4. % aprint head

Question Number : 24 Question Id : 25498943459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IRfUiRd  HIIwNEdel
Options :

1. % BRI

2. % IR IhA

3. ¢ TR BIfeol

4. % flicge

Question Number : 25 Question Id : 25498943460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G BT TR HA P U1 R Hgardl 8?2
Options :

1. ¢ Rapifgn

2. % AT

3. % BRAfST

4. % oS

Question Number : 25 Question Id : 25498943460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the process of storing sound called?
Options :

1. ¥ Recording

2. # Erasing

3. % Forwarding



4. % Reproducing

Question Number : 26 Question Id : 25498943461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H "Save As" @aﬁfﬁ) WW%WW@Hﬁ@WWWWWWW%ﬁ
Options :

1. ¥ F12

2. % F10

3. % F5

4. = F4

Question Number : 26 Question Id : 25498943461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following function keys is used to perform "Save As" operation in MS Word?
Options :

1. ¥ F12

2. * F10

3. % F5

4. % F4

Question Number : 27 Question Id : 25498943462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 7, ¢fT ¢ &1 U few g
Options :

1. % YHUg (References)

2. % ARHT (Mailing)

3. ¢ RH (Review)

4. % A (View)



Question Number : 27 Question Id : 25498943462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tracking is a part of tab in MS Word 2016.
Options :

1. % References

2. % Mailing

3. ¥ Review

4. ® View

Question Number : 28 Question Id : 25498943463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H, Ctrl+E SHHIS T IUIT frge fore fasar sirar g2
Options :

|, % TR DI T1% 3R WRIT B & [T

2. ¢ TRE Bl X IR & A

3. % TRE DI I3 3R WRIT HA & forg

4, % TR B! 914 3R 1T G Ao J WRRIT B & forg

Question Number : 28 Question Id : 25498943463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ctrl+E command is used in MS Word to:
Options :

1. # align text to the left

2. ¥ center text

3. # align text to the right

4. # align text to both left and right margin

Question Number : 29 Question Id : 25498943466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Unix 3fTRFET Red & Faiy & g T T S 1 By e 82
Options :

1. ¢ T8 UMb d goR ScXhd UGH Tg] ddl §

2. % g U Acl-guR TR Rieer 3

3. % Ug U Hed ]Ik TRfeTT Riew g

4. % U8 U Wad TR ey §

Question Number : 29 Question Id : 25498943466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements with respect to the Unix operating system is FALSE?
Options :

1. ¥ It does not provide a graphical user interface.

2. % It is a multi-user operating system.

3. % It is a multi-tasking operating system.

4. ¥ It is a stable operating system.

Question Number : 30 Question Id : 25498943467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GIF or Graphics Interchange Format files which are widely used for web graphics are limited to only colors
Options :

1. % 56

2. % 200

3. ¥ 256

4, % 24

Question Number : 30 Question Id : 25498943467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



39 Tthay & oY &7 TR TR STANT 81 aTal GIF 3{Yal UMb e BhIHc BIgdl H dhad T
Options :

1. # 56

2. % 200

3. ¢ 256

4. % 24

Question Number : 31 Question Id : 25498943470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Printer resolution is measured in:
Options :

1. ¥ DPI (Dots Per Inch)

2. % GPU (Graphical Processing Unit)
3. # CPU (Central Processing Unit)
4. ¥ MPI (Maximum Parallel Input)

Question Number : 31 Question Id : 25498943470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fferF Refe@A®l HAMTSIar gl
Options :

1. ¢ DPI (3IcH W 59)

2. % GPU (ITthard UNIRIT gfie)

3. % CPU (Hcd TR gfHT)

4. % MpI (BfeaE IRAd $7Y0)

Question Number : 32 Question Id : 25498943471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following computer components does the BIOS (Basic Input Output System) resides?



Options :

1. ¥ ROM

2. % cache memory
3. ¥ RAM

4. % CPU

Question Number : 32 Question Id : 25498943471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeied & 9 ford dugex gesd (@HHe) | BIOS (SR 3Ye 3M3eye Riew) sfafyd g2
Options :

1.¥ ROM ¥

2. % YA H

3. % RAM T

4. % cPUT

Question Number : 33 Question Id : 25498943472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & ¥ &1 1 he o1 YA HRd U, TaNTHd! 9gd ° o §U Word SISl H ToR Tl g2
Options :

1. ¥ CTRL+F6

2. % CTRL+F4

3. % CTRL+F3

4. % CTRL+F5

Question Number : 33 Question Id : 25498943472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Using which shortcut, user can cycle through multiple open Word documents?
Options :



1. ¥ CTRL+F6
2. ®* CTRL+F4
3. ¥ CTRL+F3
4. % CTRL+F5

Question Number : 34 Question Id : 25498943474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In step 1 of the Mail Merge Process, which of the following is NOT a valid document type in MS Word 2016?
Options :

1. % Letters

2. # Envelops

3. # Directory

4. ¥ Image Files

Question Number : 34 Question Id : 25498943474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Td At UfehdT & TROT 1 8, FEfoied & 9 SF-91 MS Word 2016 T U 94 SiagHc UHR ol 87
Options :

1. % oy (Letters)

2. # UAdAW (Envelops)
3. % SREC (Directory)

4. ¢ U BIs (Image Files)

Question Number : 35 Question Id : 25498943475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The WorldWideWeb is one of the early web browsers developed. It is developed by .
Options :

1. # Lan Jacobs



2. % Tim Berners-Lee
3. # Marc Andreessen

4. % Mozilla Foundation

Question Number : 35 Question Id : 25498943475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WorldWideWeb fasRid fy T YoMt aa sSSRI AV UH 138 R fasfd fear mar g
Options :

1. % OF e

2. ¢ e A ot

3. % A TeuA

4. % AT BrESTH

Question Number : 36 Question Id : 25498943476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Od 3110 U JadTSe & [l 3MTZh I SHS I gT3alac fhl U eRe TR fadd kd &, a1 99 UST 3TUH! iR Ul IR o ST | | I8 fhads
HRU YT BraT 82

Options :

1. % HUC

2. ¥ BIRIWIdDH

3. #® Wfi-gd

4. % US-3f1

Question Number : 36 Question Id : 25498943476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you click on an icon, image or a highlighted text within a website, the web page is redirected to another page. This is due to the presence
of:

Options :

1. # a comment



2. % a hyperlink
3. #® aplug-in

4. % an add-on

Question Number : 37 Question Id : 25498943485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H WaRIM =PERCENTILE({3;4:9;11;12}, 0.5) &1 URUMH fdba1 g1
Options :

1. % 4

2.9

3. % 1]

4. % 12

Question Number : 37 Question Id : 25498943485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will be the output for the function =PERCENTILE({3;4;9;11;12}, 0.5) in MS Excel?
Options :

1. % 4

2.%9

3. % 11

4. % 12

Question Number : 38 Question Id : 25498943486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fdisk utility isusedto .
Options :

1. # create partitions only

2. % delete partitions only

3. % view partitions only



4. ¥ create partitions, delete partitions and view partitions

Question Number : 38 Question Id : 25498943486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fdisk ZiefrcT 1IuaNT & fore fpar sran g

Options :

1. % Pad YT s

2. % DHad UIcRH Bl f&dlle B

3. % ohad UM &l o A

4.  UIERE S, UIFERH B f$eile B 3R UIfée™ &1 o F=l

Question Number : 39 Question Id : 25498943487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TSI AT, FHAfaefadt, IuTTHdl MhTgd, JR&T A 3R Hugex M Iled TR Ren Ifdw & quiied w1 & e g F 9
B T AP IUC [dSIl &1 Th SIIHFT g2

Options :

1. ¢ Rew uraels

2. ® HER Ui

3. % CPU UTOCIS

4. % Jeqdb Uucs

Question Number : 39 Question Id : 25498943487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a section of Microsoft Windows for editing operating system settings, including hardware settings, connectivity, user
profiles, security settings, and the computer name?

Options :
1. ¥ System Properties

2. % Computer Properties



3. % CPU Properties
4. ¥ Network Properties

Question Number : 40 Question Id : 25498943488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following properties enables multitasking in Unix operating system?
Options :

1. % Multithreading

2. ¥ Timesharing

3. # Single User

4. # Batch programming

Question Number : 40 Question Id : 25498943488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR SHToRfeT Ren & fFRafafed # @ o1F-3 uiud! Aot &l e S (THad B 82
Options :

1. % eI

2. ¥ CIHARIGRT

3. % Thdl IUARTHhdl (RITTe gor)

4. % ST YT

Question Number : 41 Question Id : 25498943489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2016 H, fae caa fdeey 9 & 9 forg B9 <9 & Siaid ST g2

Options :

1. ® ?ﬂa{\(l’review)
2. % é?T(Data)

3. % O (View)



4. ¥ 3TC (Insert)

Question Number : 41 Question Id : 25498943489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel 2016, PivotTable option appears under which of the following menu tabs?
Options :

1. % Preview

2. % Data

3. #® View

4. ¥ Insert

Question Number : 42 Question Id : 25498943490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While working on a document, how can you open another new document in MS Word 2016?
Options :

1. # Capslock+O

2. % ALT+O

3. ¥ File — New

4. # File — Open — Select Document

Question Number : 42 Question Id : 25498943490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H T GEITAW UR BT HRd §U, T 3 GxA1d9 [ UDHR T Jabdl 52
Options :

1. # Capslock+O

2. % ALT+O

3. ¥ BIEd — .

4. % HI3A — AU — Jdlae SIRHS




Question Number : 43 Question Id : 25498943491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

od BH IS STyl Widd g ol fSthiee ¢a AféT e & 9 s gl &
Options :

1. ¥ 0.5 inch

2. % 0.1 inch

3. % 0.05 inch

4. % 1 inch

Question Number : 43 Question Id : 25498943491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default tab setting when we open a Word document?
Options :

1. ¥ 0.5 inch

2. % 0.1 inch

3. % 0.05 inch

4. % 1inch

Question Number : 44 Question Id : 25498943492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

dEWHU U9 SNRTCTE &, O &t SHaTs 396! AISls /&b gl gl
Options :

1. % 3ffgd

2. % dX[a}

3. % B YT IYD SRR

4. v HH




Question Number : 44 Question Id : 25498943492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In landscape page orientation, the height of a page is than its width.
Options :

1. # greater

2. % equal

3. * less than or equal to

4. ¥ less

Question Number : 45 Question Id : 25498943493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & S{TAT STCT HIUT 3R IR FH3 o fog Faferiad & & fordt goit Siier &1 SudiT faa ST 62
Options :

1. ¥ CTRL+S, CTRL+A

2. ¥ CTRL+C, CTRL+V

3. # CTRL+A, CTRL+V

4. ® CTRL+S, CTRL+V

Question Number : 45 Question Id : 25498943493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard combinations is used for copy & pasting of your data in MS Word?
Options :

1. ¥ CTRL+S, CTRL+A

2. % CTRL+C, CTRL+V

3. ¥ CTRL+A, CTRL+V

4. ¥ CTRL+S, CTRL+V

Question Number : 46 Question Id : 25498943500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an attribute for a biometric sensor?
Options :

1. * DNA

2. % Tris pattern

3. # Signature dynamics

4. ¥ Body weight

Question Number : 46 Question Id : 25498943500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fofafed 3 3 oF W@ Saafes IR 3 faivar 78 82
Options :

1. % 1T (DNA)

2. % 3MSRY Ue

3. % gXAER &I iafiean (RPaR SaIHeRy)

4. ¢ IRR BT o

Question Number : 47 Question Id : 25498943501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T TR ah1d T.U. S6eY, (SAW) BT IRT 11 Fafaad & 4 o9 91 82
Options :

1. % IR APISRCP 99 (Sensor Acoustic Wave)

2. % IhS API3eH Id (Scanned Acoustic Wave)

3. % ThIH AHI3RCEH 9d (Screen Acoustic Wave)

4. ¢ WBY AHHI3REH 99 (Surface Acoustic Wave)

Question Number : 47 Question Id : 25498943501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The full form of one of the touchscreen technologies SAW is:
Options :

1. ® Sensor Acoustic Wave

2. % Scanned Acoustic Wave

3. # Screen Acoustic Wave

4. ¥ Surface Acoustic Wave

Question Number : 48 Question Id : 25498943502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With regards to LCD, Liquid Crystal Display, what does 16 x 2 LCD indicates:
Options :

1. # 16 lines per character with 2 such lines

2. ¥ 16 characters per line with 2 such lines

3. # 16 pixels per line with 2 such sets

4. % 16 lines per pixel with two such sets

Question Number : 48 Question Id : 25498943502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LeD, fafde freed fewa & Wy #, 16 x 2 LeD Fa1 g=ifar 82
Options :

1. % 2 Ut dfgaat & gry forw ufaq auf 16 tfaa g1

2.« 2 U tfeaal & a1y forgH ufa dfdd 16 aui B

3. % 2 WY e & 91y o 16 U@ Ul dfda g

4. % 2 VY Je & 1Y SR 16 dfdd ufa U 81

Question Number : 49 Question Id : 25498943503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
EEPROM is an acronym of :
Options :



1. # Erased Easy Programmable Read Open Memory

2. ¥ Electrically Erasable Programmable Read-Only Memory
3. # Electrically Easy Programmable Read Open Memory

4. % Electronics Error Programmable Read-Only Memory

Question Number : 49 Question Id : 25498943503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EEPROM &1 T F 5

Options :

1. ® Erased Easy Programmable Read Open Memory (3%%’ Bl IR 8 U= flﬁfﬂ)

2. ¥ Electrically Erasable Programmable Read-Only Memory @Wﬁ @@W URIAed Je-3i-at m

~

3. # Electrically Easy Programmable Read Open Memory (safo?;m GIESIRIZIEERECEEILE] m
4. ® Electronics Error Programmable Read-Only Memory (‘éQ-'\I T U ORITAEd JS-3fa fltﬁﬂ)

~

Question Number : 50 Question Id : 25498943505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With regards to technology used in banking, what is the acronym of MICR?
Options :

1. # Material Inscript Character Reading

2. ¥ Magnetic Ink Character Recognition

3. #® Material Inscript Character Reader

4. ® Magnetic Ink Character Retail

Question Number : 50 Question Id : 25498943505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST & Ugad ddb-1d & GaY H, Y&T MICR &1 J01 U 1 52
Options :

1. #® Material Inscript Character Reading (H?:i‘aqm sﬁchg PIFR ﬁ%ﬂ)




2. ¥ Magnetic Ink Character Recognition (W ECd Haer R ?IEZI:D
3. # Material Inscript Character Reader (Iléﬁ_ﬁlﬁ BRE3Y PG 3 SX)
4. ® Magnetic Ink Character Retail (ﬁﬁﬁa? E:g Haex Red )

Question Number : 51 Question Id : 25498943506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With regards to computers, which of the following method describes the best way to get the high quality sound?
Options :

1. ¥ sound card can be upgraded

2. % CPU can be upgraded

3. % motherboard can be upgraded

4. % computer memory can be upgraded

Question Number : 51 Question Id : 25498943506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HeR & Yy T, 9 7 F HH-I fafdr 3= 7uran arelt @f U s & gaiar aiids &1 auiH SRl 82
Options :

1. ¥ TIEE PIS B UUS

2. % UG, B IS

3. % HaRdls Bl UUS

4. % HYR YAR] B IS

Question Number : 52 Question Id : 25498943507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
difsa a1 difear &, 39 ITATH D! BIRd IdM & A4 I BId SISAIS 814 &1 Udlel gl H-1 giat|
Options :
1. ¢ IfHT
2. % FI3foT




3. % 3UqiteT
4. % THIUT

Question Number : 52 Question Id : 25498943507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With video or media, a Web user does NOT have to wait to download the complete file to play it.
Options :

1. ¥ streaming

2. * browsing

3. %* uploading

4. % scrapping

READING COMPREHENSION
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Question Id : 25498943479 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)



Read the given passage and answer the questions that follow.
Macaws

The macaw parrot is a striking and impressive bird available as a pet, ranging from the smaller red-shouldered macaw (30 cm in length) to the
larger scarlet macaw (85 cm in length). The macaws are very intelligent birds and require an owner who can provide the necessary stimulation to
keep them happy and healthy. Macaws have long tail feathers as well as big beaks. Their large, curved beaks are quite powerful and are designed
to crack open hard nuts and seeds and are capable of causing considerable harm to people and property. They are provided with a lot of toys,
which they can chew on. Macaws which are deprived of toys to chew may chew on their cage and other household items instead.

Macaws tend to be extremely loud. They are very demanding birds and need to be trained well. They have an excellent talking ability, but have to
be restrained to prevent them from becoming excessively loud.

Macaws are sociable parrots and develop a strong bond with their owners. They can be excellent companions and a source of great pleasure. As
their lifespan is 50-65 years, they require a lifelong commitment from the owner. Pet macaws like frequent interaction, handling and love, just
like humans. Lack of this can lead to their mental or physical suffering. They need constant supervision and care.

Macaws eat a variety of foods including seeds, nuts, fruits, palm fruits, leaves, flowers, and stems. These playful birds are illegally caught for
trade. Many macaw parrots mimic human speech. Some macaw parrots, like the blue-and-gold macaw, are known to learn phrases more easily
than others. All macaws, however, like to vocalize by mimicking whistles and household noises or by speaking words.

Sub questions

Question Number : 53 Question Id : 25498943480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Macaws are sociable-birds. This means they
Options :

1. # can attract people with their colourful feathers
2. % can develop a bond of love and companionship
3. # can damage things if not paid attention

4. # can learn and mimic sounds and language

Question Number : 54 Question Id : 25498943481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Macaws require a lifelong commitment from the owners because
Options :

1. #® they have long beaks

2. ¥ they have a very long life



3. % it takes long to train them
4. # they can talk and whistle

Question Number : 55 Question Id : 25498943482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If not provided with Macaws are capable of chewing up their own cage or even household items.
Options :

1. ¥ toys

2. # seeds

3. % nuts

4. # fruits

Question Number : 56 Question Id : 25498943483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a Macaw is not given due attention it can
Options :

1. # start making unwanted noise

2. ¥ develop mental or physical problems
3. % refuse to learn to speak

4. # develop psychological problems

Question Number : 57 Question Id : 25498943484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of this is NOT a characteristic feature of a Macaw?
Options :

1. # They can mimic human speech.

2. # They make excellent companions.

3. % They demand constant love and attention.

4. ¥ They take care of their toys.



Question Id : 25498943479 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498943480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 54 Question Id : 25498943481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 25498943482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ fod

2. % i

3. % 4c

4, % I

Question Number : 56 Question Id : 25498943483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 25498943484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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QUANTITATIVE APTITUDE

Section Id : 2549895467
Section Number : 3

Section type : Online
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Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895508
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An article was purchased for X78,350. Its price was marked up by 30%. It was sold at a discount of 20% on the marked price. What was the profit
percentage on the cost price?

Options :
1. ¥ 4%
2. % 7%
3. % 5%



4. % 3%

Question Number : 58 Question Id : 25498943468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 4%

2. % 7%

3. % 5%

4. % 3%

Question Number : 59 Question Id : 25498943469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?
(Note: You are not required to calculate the exact value)

999.0001 + 899.999 — 349.88 = ?
Options :
1. ¥ 1549
2. % 1560
3. % 1449
4. % 1460

Question Number : 59 Question Id : 25498943469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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999.0001 + 899.999 — 349.88 =?
Options :




1. ¥ 1549
2. % 1560
3. % 1449
4. # 1460

Question Number : 60 Question Id : 25498943496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.
4= X 32+7=20% of 120

Options :

4 % 15

Question Number : 60 Question Id : 25498943496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 61 Question Id : 25498943497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following Question, which is followed by three statements I, II and III. Identify which of the statement (s) is/ are necessary to answer
the question?
What is the speed of a boat in still water?

Statements:

I. The boat covers 12 km in 2 hours going downstream.

II. The boat covers 12 km in 4 hours going upstream.

II1. The speed of the stream is one-third that of the boat in still water.

Options :

1. # Only statement I.

2. % Only statement I and either statement IT or III.
3. #* All statements I, IT and III.

4. % The question cannot be answered even with the information given in all three statements.

Question Number : 61 Question Id : 25498943497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Had HYT [
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Question Number : 62 Question Id : 25498943498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the number from among the given options that can replace the question mark (?) in the following series.

20 23 30 43 64 ?
Options :

1. % 85

2. % 92

3.9 95

4, % 99

Question Number : 62 Question Id : 25498943498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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20 23 30 43 64 7
Options :
1. % 85




5 % 92
3. v 95

4 % 99

Question Number : 63 Question Id : 25498943499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

l+sinf .

If 4x secf = 4x? + 1, then the value of 0

Options :
1

IHEA‘

0. v 2X
3% 2x+1

4. ® 2x—1

Question Number : 63 Question Id : 25498943499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1+sind
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Options :
1

1. % 2x




2. W 2x

3 % b s ol |
4. % 2x-1

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895468
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895509
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498943454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Alienation' is related to 'Estrangement' in the same way as 'Paranoia’ is related to ' "
Options :

1. * Inhibition

2. % Behaviour

3. ¥ Delusion

4. * Ego



Question Number : 64 Question Id : 25498943454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ANy

2. % HdgRR

3. ¢ Yifd

4. % PR

Question Number : 65 Question Id : 25498943473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner.

Pathology, Cardiology, Radiology, Ophthalmology
Options :

1. ®* Geology

2. % Zoology

3. % Haematology

4. * Biology

Question Number : 65 Question Id : 25498943473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faemedl T ¥ 39 Usg &1 T B, it ford! +ff UpR T Wl & Y g ¥ Tafd 81|
Drcrst, HIfSAarsn, YSararst, Serears!

Options :
1. % forgreroft
2. % el



3. ¥ GIHCICSI
4. % Srgreoi

Question Number : 66 Question Id : 25498943477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth number is
related to the fifth number.

16:56::32:7::24:84
Options :

1. ® 91

2. % 112

3. % 118

4. % 127

Question Number : 66 Question Id : 25498943477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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16:56::32:7::24:84
Options :

1. % 91

2.9 112

3. % 118

4. % 127

Question Number : 67 Question Id : 25498943478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :



1. * Bark

2. ¥ QGallop
3. % Squeak
4. % Quack

Question Number : 67 Question Id : 25498943478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % i (Bark)

2. % OUC dIcT (Gallop)

3. % W(Squeak)

4, % M(Quack)

Question Number : 68 Question Id : 25498943494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

Scout : Army :: Clerk : ?
Options :

1. ¥ Office

2. * Files

3. % Section

4. % Administration

Question Number : 68 Question Id : 25498943494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ BRIy
2. % Blgd
3. % AHJHM
4, % YN

Question Number : 69 Question Id : 25498943495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, TEACHER is written as LMKJNMP. How will HEART be written in that language?
Options :

1. * NMAPL

2. ¥ NMPKL

3. ¥ NPKML

4. ¥ NMKPL

Question Number : 69 Question Id : 25498943495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ NMAPL

2. % NMPKL

3. % NPKML

4. ¥ NMKPL

GENERAL AWARENESS

Section Id : 2549895469
Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895510
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 25498943452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Second Five-Year Plan was based on :

Options :

1. ¥ the Mahalanobis Model

2. # Vakil and Brahmananda’s Wage—Goods Model
3. # the Harrod—Domar Growth Model

4. % the Solow Growth Model

Question Number : 70 Question Id : 25498943452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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4. % el gf Aisd




Question Number : 71 Question Id : 25498943453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The introduction of local self-government in the modern period of India is associated with the administration of:
Options :

1. ¥ Lord Ripon

2. % Lord Irwin

3. # Lord Dufferin

4. % Lord Canning

Question Number : 71 Question Id : 25498943453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ s Ru=

2. % W A

3. % qle SHRA

4. % Al BT

Question Number : 72 Question Id : 25498943464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hazardous waste is generated mainly by the industrial sector. It not only causes harm to the environment but also leads to health problems. A
small percentage of the hazardous waste is also generated in the house through:

Options :

1. # paper

2. # leftover foodstuff
3. % old batteries

4. # plastic bags

Question Number : 72 Question Id : 25498943464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % DI

2. % §d gU UISH

3. ¢ M 9

4. % WIRes ot Aferal

Question Number : 73 Question Id : 25498943465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the former name of the Reliance Cup?
Options :

1. # Uber Cup

2. % Thomas Cup

3. % Rothman Cup

4. ¥ Prudential Cup

Question Number : 73 Question Id : 25498943465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R U BT Uget =1 4 U1
Options :

1. # AR DY

2. % YIAg HY

3. % AYEAHY

4. ¥ g wu

Question Number : 74 Question Id : 25498943504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Who is known as the ‘Father of the White Revolution’ in India?

Options :

1. # MS Swaminathan

2. % Dr. V Kurien

3. % KN Bahal

4. % BP Pal

Question Number : 74 Question Id : 25498943504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % TH.TY. WHATYA

2. ¢ 8. dl. R

3. % &, §5d

4. % SO O

Question Number : 75 Question Id : 25498943508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Glucose is a type of:

Options :

1. # pentose sugar

2. # tetrose sugar

3. ¥ hexose sugar

4. % diose sugar

Question Number : 75 Question Id : 25498943508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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English Mock
Group Number : 2
Group Id : 2549893386
Group Maximum Duration : 5
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Show Attended Group? : No
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Break time : 1
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Show Progress Bar? : No
English Mock
Section Id : 2549895470
Section Number : 1
Section type : Typing Test
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Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 2549895511
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498943510 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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English Typing Test

Section Id : 2549895471
Section Number : 1

Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895512
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498943509 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Yoga is often partially understood as being limited to asanas or poses. People think that the benefits of yoga are only perceived to be at
the physical level. There several benefits of yoga. If you are planning to lose weight or develop a strong and flexible body or you want to
be at peace, then yoga can help you achieve it all. Yoga helps you maintain overall health. Yoga poses and meditation are a holistic fitness
package. The benefits accrued by being a regular practitioner are numerous. Yoga helps in improving health and physical strength. Yoga
also helps people who are in depression and have anxiety. Yoga detoxifies the body and gives you mental peace. Yoga also helps in weight
loss. Yoga poses like Sun Salutation and Kapal Bhati pranayama are highly useful for losing weight. If you practice yoga regularly, you
will become more sensitive to your body and its needs. This in result will help you keep a check on your food intake and body weight.
Yoga is one of the best things that you can do to relieve your stress. A few minutes of yoga daily can be a great way to get rid of stress
that is both in your body and mind. Pranayama and meditation are effective techniques to release stress. You can achieve inner peace
with yoga. You do not need to visit serene spots that are rich in natural beauty to get peace. You can get peace within yourself. Yoga is
also one of the best ways to calm a disturbed mind. Yoga also improves immunity. Our system is a seamless blend of the body, mind, and
spirit. An irregularity in the body affects the mind. And unpleasantness or restlessness in the mind can manifest as an ailment in the
body. Yoga poses to help massage organs and strengthens muscles. Breathing techniques and meditation release stress and improve
immunity. You can get more awareness of your surroundings if you do yoga regularly. Your mind is constantly active. If you are aware of
the tendency of your mind, you can save yourself from getting stressed or worked up. Yoga and pranayama help create that awareness
and bring the mind back to the present moment. Yoga increases your energy levels. Shuttling through chores and multitasking
continuously can be quite exhausting. A few minutes of yoga every day boosts our energy level and keeps us fresh. Ten minutes of
meditation in the middle of a hectic day is all you need to charge up your batteries. Yoga gives you better posture and flexibility. Yoga
must become a part of your daily routine to get a body that is strong and flexible. Regular yoga practice stretches and tones the body
muscles and makes them strong. It also helps improve your body posture when you stand, sit, or sleep. It reduces the risk of body ache



that causes due to incorrect posture and is very painful. Yoga and meditation have the power to improve your intuitive ability. This will
help you spontaneously realize what needs to be done to yield positive results.
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